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A% (CH,CO0H) = 0.03498+ 0.00409 = 0.03907S - m? - mol™! [% ]
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A=x/c =0.01381S-m '/ (7.81X107?X10°mol-m?) = 1.768X107°S- m?
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a=A,/4=1.768X107%/0.03907=0.0453 [%]
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ca? _ 7.81x10"3*mol-dm~3x(0.0453)?

=1.68x10"5mol -dm=3 [%&]
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5.40 = 4.76+ log %5
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[Ag"]=x, [Cl ]=x+0.00500 & 72 %,
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x ( x +0.00500)=1.82x10""°

x =3.64X10%mol:dm™® [Z]
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(BVEE) = 1/4=x oRy = 1.286 S-m 'X39.3Q=50.5m""
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k= (BLVEE) /R =50.5m',/2986Q=0.0169S-m ' [%]
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A=x/c =0.0169S-m'/(0.0100X10°mol m?) = 1.69X107°S- m?*
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Ky =< = O'ﬁomolliﬂ::&ff; 197)" _ 534 x 10-Smol - dm-
[Ht]=ca@=0.150mol- dm®X0.0124 = 1.86X 10 °mol- dm 3,
pH=-log[H" J=-10g(1.86X107%)= 2.73 [Z%]
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H= %(pKa —logc) = %(4.76 — 10g0.0400) = 3.08

~log[H"]=3.08 [%]
X - T,
[H* ]=8.318X10 *mol- dm?
[H"]J=ca@=8.318X10"" XV
_8318x10”* _ 8.318x107*
c 0.04
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=0.0208 [%&]

[CH;CO0H]=c(1- @ )=0.0400-8.318xX10*=0.0392mol- dm™?
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pH = 14 — > (pK;, — logc) = 14 — 2 (4.75 —10g0.25) = 113 [%]
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pH =7+ ~(pK,+ logc) = 7+ (476 + 10g0.250) = 9.08 [ %]
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pH = 7—5( pK,+logc) =7 —%(4.72+ log0.06)=5.25 [%]
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